
1 pcs

SCREW JF 6 X 1 1/4" BACKREST

JCBC M6 x 40 SEAT

2 pcs 1 pcs

1 pcs 1 pcs

ALLEN KEY 4mm SUPPORT FOR ASEMBLED 

4 pcs 1 pcs

AS NUT M6 X 13 APRONT

6 pcs

4 pcs 2 pcs
JCBC M6 x 90

LEG

ASSEMBLY INSTRUCTION FOR FLEUR BENCH 2 SEATER

NO. PART LIST QTY NO. PART LIST QTY

A 

B 

E 

F 

G 

C 
H 

D 
I 

F 

G 

J 



ASSEMBLY INSTRUCTION FOR FLEUR BENCH 2 SEATER

F 

G 

H 

F 



ASSEMBLY INSTRUCTION FOR FLEUR BENCH 2 SEATER

J 


